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Keeper 36



For cross sections of area 𝐴(𝑥) taken perpendicular 
to the 𝑥 − 𝑎𝑥𝑖𝑠,
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For cross sections of area 𝐴(𝑦) taken perpendicular 
to the 𝑦 − 𝑎𝑥𝑖𝑠
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1. Draw the base on the 𝑥𝑦 −plane

2. Draw a representative cross section

3. Find an area formula for the cross section 𝐴(𝑥)
or 𝐴 𝑦 by plugging in the base equation to the 
area formula of your cross section

4. Set up integral with bounds

5. Integrate your area formula and use FTC on 
your bounds
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Find the volume of the solid whose base is the region 
bounded between the curves 𝑦 = 𝑥 and 𝑦 = 𝑥2, and whose 
cross sections perpendicular to the 𝑥 − 𝑎𝑥𝑖𝑠 are squares. 



Find the volume of the solid whose base is the region 

bounded by 𝑓 𝑥 = 1 −
𝑥

2
, 𝑔 𝑥 = −1 +

𝑥

2
, 𝑎𝑛𝑑 𝑥 = 0. The cross 

sections are isosceles right triangles with the base as a leg 
that are perpendicular to the x-axis. 



Find the volume of the solid whose base is the triangle 
enclosed by x + y = 1, the x-axis and the y-axis. Cross sections 
perpendicular to the y-axis are in the shape of semi-circles.



Find the volume of the solid whose base is the bounded by the 
circle x2 + y2 = 25.  Cross sections perpendicular to the y-axis 
are in the shape of squares.


